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Given right ∆𝐴𝐵𝐶 with ∠𝐶 = 90°, ∠𝐴 = 50°, 𝐴𝐶 = 5, 𝐵𝐶 = 𝑥, and 𝐴𝐵 = 𝑦, which equation expresses a 
correct trigonometric ratio for the triangle?  

 

A.  cos 50° =
𝑦

5
 B.  sin 50° =

𝑥

𝑦
 C.  tan 40° =

𝑥

5
 D.  cos 40° =

5

𝑦
 E.  tan 50° =

5

𝑥
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

A tire has a circumference of 30 inches. How many revolutions does it make as it rolls 33 feet?  
      

A.  1.1   B.  
15

𝜋
   C.  13.2  D.  15𝜋  E.  82.5 

 
 
In one revolution, or one turn around the circumference of the tire, the tire travels 30 inches or Convert 

30 inches to feet: 30÷12=2.5 ft.  

Then:  33𝑓𝑡 ÷ 2
1

2
𝑓𝑡 =

33

1
÷

5

2
=

33

1
×

2

5
=

66

5
=13.2 revolutions 

 

 
Each week, we’ll reveal the answer to the previous week’s question! 
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